Mr. Visca – AP Calculus AB
Unit 6: Diff EQ and Math Modeling Review Notes

Slope Fields:
Here's what the slope field of y' = 2x looks like
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Draw a slope field for: dy/dx = 3x + y
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[image: ]To "C" or not to "C"!










More Integrate by U-Sub
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[image: ]Definite Integral with U-sub…now with bounds!
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Separable Differential Equations
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Unit 6 Review Problems (there is no #8)
Show all your work!


1.   dx =
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(#10 continued on next page)
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I the substitution x = 20 + 1 is used, which of the following is equivalent to
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Let F(x) be an antiderivative of If F()=0, then F(9)=
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Which equation has the slope field shown below?
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Consider the differential equation H

() On the axes provided, sketch a slope field for the given differential equation at the twelve points indicated.
(Note: Use the axes provided in the pink test booklet.)

(b) While the slope field in part (a) is drawn at only twelve points, it is defined at every point in the xy-plane.
Describe all points in the xy-plane for which the slopes are positive.

(¢) Find the particular solution y = £(x) to the given differential equation with the initial condition £(0) = 3.
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